EARAROBREBRT —5 XN—ZXBISH—F

2024548308 CX) 2@00#atE2H

3R Y

BRI

[AE%] 17%&:1,700,000 § ~ 237&:680,000 37&:425,000 9  43&:255,000 @ . 5 3&:170,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—_, FOMRE : ~10-10- - KAE (o18)
118l 9| F—7Hzvo B3 TR 1.({)).6 10-10-10-9 | 40.0 9 :1:20) .
RFAUAYRA NUFw b B:9F0—L SLI7—L
S e e, © LA A : -3-1- - {ERERR (Roid)
5 lglol 7y RevFo—R 4 3 Lz (11410/2% 3-3-1-1 | 41.6 2 (:1(1)?) e
Rivadr7)I5y #:0—TJa—Fv— HBEIT7—L4A
s 3 | GlEsk 1:41.3 8-6-3-3 |42.0| — 3 449 | KBRS ()
3|17/7|ATAT 56.0 2172 (-3) | A
R:7ROFrVIvF— B:IS5F1—h RTH5
S~ R S t 3 | ®@IR 1:41.5 5-5-5-5 | 41.7| - 1 432 |WTFEZ (@)
4N 4 | TS5V RRY=2 v 4 54.0 ) o () FrOyhTr—i
R:T—=ILRI—-R B:Favh—F—7 /=Y Tr—1L
<, = B3 | BTTHIE 1:41.6 4-4-4-4 | 419 — 4 | 519 |EEREST CH)
sl 2 | XMTVATA 56.0 ZE) @3y | W FUFYTr—L
RVIAVI—R B:Ya1—-YVYT47 IYVYIT7—LA
@ BB : -8-9- - ELARER (#o18)
6 6| RZRHUT 4 3 P 1(74111)7 9-8-9-8 | 41.5 5 (4_126; aahn
RiAUTAIWZFI0—-L H:393D TPERUS
3 3 | SeflE 1:41.8 1-1-2-2 | 42.6| - 7 | 4% |KAE (618)
vARNRR e A 56.0 (3/4) o |BREE
R:AR—KNT 7)Y B:YF/IUF7—Va E=TIE 97 3
v, gy {PEFNRS : -7-8- - FHEEE (fe)
sBY 3| LAY NI "3RS R A A © 1 & loma
R:V=FHIS9Y B:ZY/ITL—) [=F: =773
< 3 | LAESE 1:43.6 7-9-6-7 | 43.6| — 8 456 | EIFER (#018)
9|5|5 | EFFr/AX # 54.0 @ “2) @ nxvan
R:7ZROTFVIvF— B:LyRFPYITUA RO8US
o\ o\ BERK 44, -2-7- . - BRET CAf)
1ol7l 8 |18y vy7ityy 3RS VeS| T e O e
RINVIRATawI DA UT— BNNSTTXIVR TS5V R¥G
@ 11— —BERIEI
13—7F— 1,8,10,2,4,3,5,7,6,9
20— — 1,8,10,2,4,7,3,6,5,9
3J0—73— 10,1,7,2,4,5,8,3,6,9
43— — 10,1,7,2,4,3,5,6,9,8
o ILRE
BB 9 8,640 JA R 9-10 2,730 & 8-8 10,250 3ER 7-9-10 14,340
B B 9 1,510 7-9 5,490 (=] 8-8 9,640M 3Es 9-10-7 163,450MH
10 1509 7-10 460M B E 9-10 9,130
7 180 Ba 9-10 31,530

ABIC OV TRUTEREERRODDZE. THRIIZEL.




